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Learn meaning, write synonym and make a sentence of each given word.
 Resilience
 ambiguous
 clammy

1. John has 600ml of milk left in a milk bottle. He also has a 
milk bottle containing 0.84l. How much milk does he have 
altogether?

2. A can of Pepsi cost 50p + 12p sugar tax. 
24 Cans of Pepsi are put into carton. Ten cartons are put in a 
box. One hundred boxes are put in a pallet. 

Find the cost of:

3. Jane squared a number and got 961. What number did she 
start with?

1. 57cm = 0.57m

2. 290 x 713 = 206 770

3. 6.18 + 1.2 = 4.8 + 2.58

4. 15.936 ÷ 3 = 5.312

5. 0.75 – 0.49= 0.26

One carton £14.88

One box £148.80

One pallet £14880

10 pallets £148800

Each sentence below has one word that is incorrect. Write the 
correct spelling of the word in the box.

James has suficent income to support his family.

I don't think we can guarante your safe return.

He was too embarased to ask someone for help.

Make the noun or adjective into a verb by adding one of the 
suffixes –ate, -ise or –ify.
• motive – motivate  
• diverse - diversify
• apology – apologise
• vaccine- vaccinate
• computer – computerise

sufficient

guarantee

embarrassed

The number is 31.

1.440l or 1440ml


